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SECTION-1
MATHEMATICS

If (1 + f) = 3, then the value of ’.

g = B
LwJu ) will be

A8

(A) 3473 (8) 3(v3+1)
@ 3(3-1) ,.,®@0 .-
2. o
The value of |=TSIE¥ 4
\ 1—sinx

{A) secx—tanx (B secx -tanx

A9 tanx — secx (D) secx + tanx

3. In figure ZBAP = 80%and 2ABC = 309 then
£AQC will be

P A Q ;
A 65° (B 50°
b} 559

(© 110°

4. IftanB +sinB=mandtan§ -sin § =n. Then

the value of m2 — n?is

(B) 4+/mn

BOAF BT -
(A) 343

©  3(v3-1)

) 3(43+1)

(P) o

tsinZ g9 ¢ -
\1-sinx

(A)secx — tan x (Blsecx tanx

(Qtan x — secx (D)sec x + tan x

s R #, ,pap=280° 3N £ABC=30% I
£AQC BT A BT

(€)

“ AT tan @ +sinH=m3Rtan 9§ -
sNng=nd @ m2—p? & A9 &

(A) 2./ mn (A) .2.,'_'_ fmn (B) 4~fmn
(€ 4mn (D) _ an . {C). 4 mn (®)/mn
Page:2
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b Thevalue of tan 14 is

(A l_ m 2
© 2.4.y3 CIPIRYE

G Ravi can do % of a work in 12 days. In how

many days Ravi can finish the Y work ?
(A) 6 days (B) 7 days

(€) 8 days (P) None of these

. 1f 7 is the mean of 5, 3, 0.5, 4.5, a, 8.5, 9.5 then
the value of @’ is

(A) 31
(€ 18

(B) 12
(D) 49

8. If side of cube is 6 cm, then the diagonal of
cube is -

W 6v3 em

@ 2v3cem

®) 6v2 cm

(®) 32 cm

9. The value of sin 6 + cos(90'+ 8) + sin(180 - 8) +
sin (180 + ) is '

(A) 0 (8) 1
2
19 =] O
0. }f  sinx+sin*x=1, then the value of
cos?x + cos*x is
(A) 1 (B) 0
(©) -1 (D) 2

G,

Ln 1% BT A& -

) 1 ® 2
23 V3
© 243 @ 2-43

“F oy v w12 fE F w owmE f
SN H GO s S B O B C o B

SRIEYS
(A ¢ o ®) 7 e |
© 8 f&= ©) 9 U BE T

5, 3, 0.5, 4.5, a, 8.5, 9.5 @1 WA 7 7
o BOAT
(A) 31
(€ 18

(8) 12
(D) 49

I g7 B YoM 6 WM T O T @
faeot &

W 63 cm

23 cm

B 6v2 cm

(@ () 3v2cm
sin 8+ COS(90 + @) + sin(180 — g) +

sin (180 + g) &I 1 § -

(A) o (B) }

i 2

@ —1 (D) 1
0. Jfg sinx+sin?x=1,

cos?x + costy BT AT = ?

VAT

(A) 4 (8) o
Q) (b) 2
Pages® ~
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12,

13

14,

15.

18.

- The perimeter of an equilateral triangle whose

areais 4+/3 ¢m?is equal to
(A) 15 cm
(€} 12 cm

(B) 10 cm
(D) 20 cm

If the ratio of volumes of two spheres is 1 : 8,
then the ratio of their surface areas is
Ay 1:6 (8) 1:4

(€1:8 (py1:2

The area of circle whose circumference is equal
to the perimeter of a square of side 11 cm is

(A) 144 cm? (B) 124 cm?

(© 134 cm? (P) 154 ¢m?

if 2% = 5¥ = 107% then the value of

(A) -2 (B) 3

© 5 © 0

The solution of equation yé - 2y§ — 15 is
(A) 25, 27 (8) 125,—27

@& 25,27 () 27,—125

The factor of (a%b* — 16¢c*)is

(A) (a%b? - 4c?)? (ab + 2c)(ab+ 4c)
(8) (a?h? — 4c?) (ab+ 2¢)*

(©) (a%b? + 4¢?) (ab+ 2¢)(ab— 2¢)
(D) 4(a’b? + c*) (ab— 2c)(ab+ 2¢)

TR

15.

- (A)-25, 27

16.

-t

.mq@ﬁgmwma4\/‘cm g,
IHT IRAT BRT -

(A) 15 (8) 10 TP

© 12 44 (D) 20 TH

afr @ el ¥ A¥aH H 1 : 8 @l

(8) 1: 4,
(D)1:2

I g BT SABA fpaar & Rrrar aRkfE,
1M1 cm ﬂﬁTﬂ]@fﬂ"f&'W%“’
{A) {144cm (8) 124 cm?

() 134 cm? (D) 154 cm?

2x= 5-?: 10_2 _E‘P[, Fh
e+£+l)zﬁr=rﬁ%-
¥y F4
(8) 3
(b) ¢

(A) -2

(© 5
AR yg_zyg_ 15 B & @
(8) 125,—27
(&} (D)

25,—27 27,—125

(a*b* — 16c%) T TS &
(A) (a®b? - 4¢*)? (ab + 2¢) (ab + 4c)
(8) (a®h? — 4c?) (ab+ 2c)?

(©) (a?b? + 4c?) (ab+ 2¢)(ab— 2c)
(D)4(a%h? + c?) (ah~ 2¢)(ab+2¢)

Page: 4
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17

A train passes telegraph post in 40 seconds
moving at a rate of 36 km/h. Then the length of
the train s

{A) 500 m (8) 400 m

(€) 450 m (D) 395 m

If tan (A+B)= (3 and cos (A - B) = ﬁ , the
2

values of A and B are
(A} 45°, 15° (8) 40°,20°

(@ 15°30Q° (0) 60°,30°

19. Find the value of complementary angle of 75°

(8) 30°
(D) 45°

(A} 15°
(€ 85°

. The length of sides of a triangle are in the ratio

3:4:5and its perimeter is 144 cm. The area
of triangle is

(A) 664 cm?
© 764 cm?

(8) 684 cm?
®) 864 cm?

. The earth makes a complete rotation about its

axis in 24 h. What angle will it turn in 3 h 20
minutes ? ' .

(A) 130° B) 120°

© Noneofthese () 50°

The LCM. of 12x%y3z2and 18x*y?z3is -
(A} 24x*y?z? (8) 32x%yz®
@ 2lxyz 0) 36x%y3z3

17

20.

w Y RN 2fUE dRe @ 40
Japve N 36 km/h BT AT T IR wRR
¥y YT WY orars § -

(N 500 m (8) 400 m

(€] 450 m (D) 395 m

A% tan (A + B) = /3 UR cos (A -

By= Y3 g drpcir B AmE

2
(A 45° 150 (8)  40°,20°
(©  15°,30° ®)  60°30°

LBV 750 & DI T/ BIOT $7 41 3

(A)  15° (8)  30°

©  85° ()  45°

3T o Yol FT UK 3 : 4 : 5
AR SUsT URANM 144 cm B G SH9T
8% R BRI ?

(A} 664 cm? (B) 684 cm?

© 764 cm? (0) 864 cm?

- Gl Ul o1eT W FAA § TP g T

PR § 24 HUC IR 8, OF 98 3 HUCT

20 fFe ¥ fraer o7 iRl

Ay 130°
O P

(B) 120Q°

(D) 50°

12x2y372 3R 18x4y2z3 B AN, T
(A) 24x%y272 (B) 32x*yz®

@ 21xyz () 36x%y3z3

Fage: 392197
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23

24,

25,

" 28,

The sum of two numbers is 11 and their
product is 30, then the numbers arc
(A) 9,2 B) 7,4

(© 6,5 (0) 8,3

Vertex of a triangle are (4, 6), (2, -2) and (0, 2),
then co-ordinates of its centroid must be
(A) (2, 3) (8) (-2, 2)

(€ (2,2) ) (1,2)

Use the following figure to find +® and yﬂ

(A x =50°y = 30°
(8) x = 30°y = 50°
(© x=50°y=60°
®) x =55°y = 65°

tan 3A - tan 2A » tan Ais equal to
(A) tan 3A-tan2A-tan A

(B) tan 3A +tan 2A +tan A
{€) tan3A +tan2A-tan A
(D) None of these

A

YX

25.

26.

afy < Jdegell @1 oam oy GRS
UFTSel 30 1, O g Bl -

(A) 9, 2 ®) 7, 4

(€ g, 5 () 8, 3

u gfy Bt & M & P @, e),

(2, -2) ¥R (0, 2) B, O FWF FHH b
Ay &

(A (2, 3) ® 2z 2)

© (2, 2) () (1, 2)

%qmm-ﬁxc \’ﬂ]'\’yc _C}?_m:fg"

5 C
120° 130°
AL ey— YA
U
(A x=50%y =30°
B  x=30°%y=50°
© x=50°y=60°
) x=B5%y =65

tan 3A - tan 2A . tan A R &
(A) tan 3A - tan 2A - tan A
(B) tan 3A + tan 2A + tan A

- (O tan 3A . tan 2A - tan A

(0) T Jq BIs T8

Page: 6
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27,

28.

30,

31.

————

1
s

If A= dx + L then the valuc of A +
X A

(A) 1 (8) None of these
4x3 4 x
(€ 4x2 41 o) ¥
" 4x? 41

Th logy~lo log z—log x
e value ofX(gv BZ)XY[OB gx~)

« 7\1°8¥ =108 V)is equal to

(A) 1 {B) 0

©5 (D) 3

The value of 3’ e s
0.4096

(A) 5.625 (B) 5.652

{C) None of these (D) 5.265

Thevalueof
. 1B
V10 ++/20 + 40 ~ /5 - /80
& VE(1+47)  © VE(z4vZ)

@ V3(3++v2) ©® 5(5++2)

The median of the following data 25, 34, 31,
23, 22, 26, 35, 29, 20, 321is

7"

26,

29,

30.

A A= e B A D w AR
(A 1 (8) 'rf}‘rﬁ: Tl

Ax? 4 x
© 4x? 41 )

Ty 4x? + 1

XUOL{ y ~log z) ) (log 2= log x)

¥
: Z(loz.r~loz y) RN T -

(A) 1 )
© 5 (o) 3
0.4096
(A) 5.625 (8) 5.652
(© 38 ¥ I & (D) 5,265
15

10 + /20 + /20 - +/5 — +/20

3T AF ® -
W 51+vZ) ®  V5(2++2)

©  V3(3++v2) ®  V5(5++v2)
. | Siimst @ wiftgaT ® -

25, 34, 31, 23, 22, 26, 35, 29, 20, 32

{A) 29.5 (B) 22.5 (A) 29.5 (B) 225
(C} 30.5 (b) 27.5 (© 305 (D) 27.5
Page: 7
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a2, In the given figure, the value of 2 DEC i

A
i

(A) 450 (B) 65°

(C) ss° (D) 75°

33. A Verandah of area 90 m?2 is around a room

of length 15 m and breadth 12 m. The width of
the Verandah is

(A) 1.5m (B) 1m
() 2.5m (D) 2m
3. A and B can do a piece of work in 72 days. B

and C in 120 days and A and C in 90 days. In
what time can A alone do it ?
(A) 55 days {B) 120 days

(€) 60 days (D) 110 days

35. The Quadratic equation, whose roots are
4+ 7 4— ﬂ,ﬁ i
2 2
(A) 4x%2+16x+9=0

and

B 4x*—16x—9=0
(© 4x®—16x+9=0
(D) 4x2+16x—9=0

32,

33.

35.

few ¢ R A, ypEc W AT € -

(A) 45° (B) 657

(©) 55¢ ()  75°

15 maﬂ%‘na?rﬂzmaﬁ:c»‘masw
AR 9o 2 SPwE BT TE MGl g T

AT B ASE T
(A 1.5 m B) 1 m
(€ 25 m @) 2 m

A@?Bﬁx‘ff?ﬁm‘cﬁrﬁaﬁ\’?zﬁmﬁ

T FE E, Bmcaﬂ’rwam
ﬁ?ﬁﬁrﬁmAaTrxfc 90 f=T ¥ &%,
A arpen 99 M @ e Rl # o

(A) 55 fe=r & ®) 120 AT A

(© o fe=T § (o) 110 feAT 7

It Rug wlieRw & g 4++7
2

dr A7 & o Wi & -

2

(A 4x?+16x+9=0

() 4x*—-16x—-9=10
© 4x*-16x+9=0

(0) 4x?+16x—9=0

AT

Page 302197
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36,

37.

The value of expression
14 3 T

log - - log = ]03;15

(A 0 (B) 1

()3 () 2

If V3x -2 = 243 + 4, then the value of x

is

W 2(1++v3) ® 1443
© 1-+3 Pl 2(1- v3)
38 The HCF of two  polynomials

39.

40.

p(x) = 4x?(x* - 3x +2) and
q(x) = 12x(x — 2)(x%2 —4) is 4x(x -2).

The LCM of polynomials is

{A) x2(x? - 3x+2) (x* - 4)

B 12x2(x% — 3x + 2) (x? + 4)
© 12x2(x? - 3x + 2) (x* — 4)
() 4x(x—2)

The volume of a cuboidis x3 — 7x + 6, then

the longest side of cuboid is

(A x—1 (B) x+3
(€} None of these D) x—2
The compound interest on% 24,000

. g gl
compounded semi-annually for 1 5 years at the

rate of 10% per annum are

§U]

38.

39..

o> - Jog —
e 3

lop 1 W& -
(8) 1
o) 2

(A 0
€ 3

AR Gy =2 = 2yF 4 4 T BOAA F

B 1 4+ 3

W 2(1 + V3)

© 1- 3 © 201 - ¥3)
< agwE p(x) = 4x?(x?% - 3x + 2)
AR ) =122 -2)(?—4) T

AW 4x(x-2) O TGN G A T -
A x2(x?~3x+2) (x*~4)

®  12x2(x* -3x 4+ 2) (x> + 4)

(©  12x%(x% —3x +2) (x* - 4)

0 4x(x—2)

IfE U BT AT 43 _ 7y 16 O, dl

T P G o= 9o B -
A x -1 B) x+3

O TS P

. ¥ 24,000 BT 10% IS A B X 9

1Z¥aﬁ$ra.mﬁﬁmm,mﬁ6m
gir SR S el SN § ?

(A) ¥ 3,774 (B) ¥ 3,783
B
(A) ¥ 3,774 (8) X 3,783 © % 358 o) T 3780
() ¥ 3,583 (b) ¥ 3,780
Page:9 392197
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e e e e

4. Two  straight  lines 3y-2y=5 and |4 & IR @ 3x-2y=5 N
2x+ky+7=0 are perpendicular to each| 9y yyy17=0 T G R 09 € ok

other. The value of k is H qF B
(A) 3 (B) E (A) 3 (8) r.‘):
2 2

© 4 o) 1 © 1

3 3 3 B

42. The value of c0s20° cos70° — sin20° |42 (45200 cos70° —  sin20°

sin70° sin 70° wAAE -
(A) 1 (8) 0 (A) 1 () 0
(€} None of these (D) (© s A P T4 (0) @

z,

43. Angles of a triangle are in ratio of 1 : 5 : 12, (43. T A & B0 HI ATART 1 5 ¢ 12

biggest angle of this triangleis _ )
(A) 6Q° (8) 9Q° asf ﬁ G2l HEI-'G gl EEWT -%'
(A) 60° (B) 9a°

(€ 120° (D) 45°
@ 120° (b)y  45°

o 'f5\/§X53+5“3/2=58+2 then the value of | 4. A 5\[’5'x53_:_5—3/2=5a+2 ar a 9T

ais 9 8§ -
(A) 8 {31_4 cp, Fon e [ (A8 (B) 4
€ 6 (D) 5 : © 6 (D) 5

4. If points (5,5),(10,k) and (=5,1) are|s AR Reg (5,5),(10,k) I  (=5,1)

collinear. Then the value of k is Tﬁ@'ﬂ -Epi, ar k &7 A %_
(A) 6 (B) 9 A) 6 ® o
7 (D) 8 b s )

© 7 h (D) 8

WA —

Page- 10



————

e The value of(:x‘ - 3) (x3 424 %) is
X L

equal to

A6

2 2 (xz 'y mh l.) WO
S x®

(A) 4 3424+~~~ 8
X34+ 2x + —~ 8 :
) (B) 8
B . 8 x3 - g
x3 - — xe
x.')
5 . o 5 © 5,8 © 5 2
x4+ — (01«173—‘—-, & X
X i
47. Find equation of line passing through the two | 47. & fawgait (3,5) AR (-4,2) U &
ints (3,5)and (—
points (3, 5)and (~4,2) S Al Y w1 IR
A) 3x—-T7y+26=0 A} 3x—-7y+26=0
B 3x+7y+26=0 B) 3x+7y+26=0
€© 7x—-3y+26=0 © 7x-3y+26=0
(B 3x -7y +62=10 B 3x-7y+62=0
48. The volume of cylinder is 448 1t cm?® and | 48. T&H E-I'l%liﬁ'ﬂ??[ ded B IARH
height 7 cm. Then its lateral surface area is 448w em® IR B 7 cm &, A SH@
&) 252 cm? (B) 259 cm? I IS T B 2
A B
{€) None of these (d) 352 cm? W 252 em? @ 259 om?
© @ig TE (®) 352 cm?
49. The perpendicular distance between two|4s. ] IHFGR JGERH 3y +dy—6=0 I0d
arallel lines 3x+4y—6=0 and . _
P le . 6x+8y+7=0  da T W &
6x + 8y + 7 = Qisequalto _
¥ : (A} 1910 unit (B) 19/5 unit
{A) 19/10 unit (8) 19/5 unit . - )
. (© 10719 unit (b) 1972 unit
(€) 10/19 unit (D) 19/2 unit
50. ERAY 50. 1 :
The value of logg (125) IS logs (125) I A
(A) O (B) 3 (A) 0 (B) 3
€ -2 () 5 © —3 (D) 5
Page: 11 392197
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51,

53,

54.

HSEAIEN

SECTION-N
PHYSICS

A particle is moving along a circular track of
radius 1 m with a uniform speed. The ratio of
the distance covered and the displacement in
half revolution is

(A) T:2 B 1:1

€ 2:x ) mw:1

L

. A body weights 75 gm in air, 51 gm when

completely immersed in unknown liquid and 67
gm when completely immersed in water, Find

the density of the unknown liquid
W egm/fem® @ 8gm/fem®

© 3em/fem? ® 4gmfem?

61,

52,

Wik e
W@ B 1 A B & gaeR 99 R Th
AN Al WA WYY@ ¥ | w0 g
AT AP TN H Fel o
e # e B0 -
2 (] 1:1
(c) 2T P w:1

e fue @ g1 W FeHAM 75 gm € |
gt 59 § of w9 W gEM W 51 gm
g at F g7 gm T | &G wg B

T ® -

W ggm/em® ® 8gm/om®

© 3gm/em® ©® 4gm/ crn®

An object is placed in front of a convex lens of | 53. T& aeg 12 Wl ®Ha U & SUA of¥
focal length 12 cm. If the size of the real image ¥ wrm Rea § | oy arafds wfafaa
formed is half the size of the object, then the P APR, G P AN DI AET o,
distance of object from the lens aw] B o W g B
(A) 30 cm (B) 36 cm () 30 9 (B) 36 AW
(©) 48cm (D) 26 cm (0 48 A (D) 26 Wi
A charge of 10 coulomb is brought from infinity | 5. 1) Fe JRA B T F T TN
to a point P near a charged body and in this IR B T R P T < 4 200
rocess 200 joule of work is done, Electric
i e P e vew ¥l fg P W
potential at point P
(A) 20V (8) 10V g favi g -
(c) 200V (b) 100V () 20 e () 10 dee

19 200 dree (®) 100 e

Page: 12
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55. A car of mass 2000 kg is moving with a velocity

6. In a simple pendulum experiment, a student

of 18 km/h. Work donc to stop this car is
@ 25 x 103 joule(®) 25 x 10*joule

(© 2.5 x 10%joule® 25 x 10%joule

calculate the value of g is9.92 m /s? but the
standard value of g is9.80 m/s? then the

percentage error in the calculation of g is
{A) 1.12% (B) 1.22%

(€) 1.42% (D) 1.32%

. 100 joule of heat is produced each second in a
4 ohm resistance. Potential difference across
the resistor '
(A 20V

(C) 100V

(B) 40V
(D) 50 V

- A ball is released from the top of a tower of
height h meter. It takes T seconds to reach
ground. What is the position of ball above the
ground in T/5 seconds ? '

(A) 24 hm (8) 24
25
(€ 25hm b) h
b

0hh,

56.

58.

- 4 M yRRw F iy devs 100

2000 kg ¥ UH HR 18 ﬁm{jarua & a
VAdd X 2| TR B AT 0 o1 F7
2 |

(A) 25 x 10%352 (B 25 % 10% 3

€© 25 % 106g (P) 2.5 x 10% o

&l BT gRT IRt Aldd W T B
MY T ERT ‘g B AT 9.92 m/s?
ST B & | Sl g @ amifE AW
980m/s? & | A ¢ F AT b BT
¥ ftrer fe 2 -
(A) 1.12%

@ 1.42%

(B) 1.22%
(d) 1,32%
i G

SO P SR 7| URRY % RRT W
favaraR BRI -

(A) 20 diee (B) 40 dree
(©) 100 dlec (D) 50 diee
UH §icl, h &as & @9 & 3T ¥ Brer

IRt § W FN 9% Ugae § T davs

B 9T ol © | T/5 Qbvs 91§ didT af
S | g orl

(A) 24 h o (8) 24
© 25 h 7} LI
- = T
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59. A spherical mirror and a thin spherical lens
each have a focal length of - 15 cm. Nature

of mirror and lens will be
(A) Both convex

{B) Mirror convex and lens concave
{€) Mirror concave and lens convex

(D) Both concave

60. The gravitational force between two masses

kept at a certain distance is ‘P’ Newton. The
same two masses are how kept in water and
the distance between them are same. The
gravitational force between these two masses
in water is ‘Q’ Newton then

(A P> Q ® P=qQ

(©) Noneofthese (D) P < Q

61. A stone is gently dropped from a height of
20m. If its velocity increases uniformly at the
rate of 10 m /s?. With what velocity and after

what time will it strike the ground ?
(A) 10 m/s, 205 (8) 20 m/s, 2s

(© 10m/s,2s (0) 20 mfs, 205~

62 Two resistances combines in series order
provide 50 ohm resultant resistance and when
it combines in’parallel order. provides.8: ohm
resultant resistance. Then. j;ﬁe' Value ﬂf#e_afh-
resistance. _ i
(A} 21 ohm and 29.0hm

(B) 10 ohm and 40 ohm
(€) 20 ohm and 30 ohmf )
(D) 15 ohm and 35 ohm - .-

v"‘

|, et o i @ e el

o
e A B g8 -1540 & | T T
oRT B -

(A) B Seldl

(8) gdor Ter SR of ¥ Aded

(€) =dur eradd AR oW STIA

(D) SFf ergde

0. | R U ARgd
imﬁﬁﬁymm?
e & | o A Al P ur
F g W WM g WS
TEETHY gl Q¢ e & df -
WP > Q BP=Q

Oz & ®rg 781 PP < Q

=

3
WX

6. TF URR 20 W @ Sag & FREr S
£ | iry ¥ ERE @R B AT
101%/?2@3?@@%]@:[11?

R I URR BT 97 U§ o 9Hd
BT
(A) 10 HE, 20 ABIS

® 20 A, 2 FovS
© 10 HA, 2 Apvs
P20 MR, 20 APHvS
&2 3l JRRE ST 2o m A Oia Y
9 € A 50 39 AF @1 URRY WM
. BXd § 91 99 S 99K HH H Sired
IE A 8 AWM BT URY YT PR § | 89
~- AR BT AF BT -
(A) 21 W 3R 29 AT
(8) 10 <% 3R 40 W
(© 20 3F R 30 A

() 15 & 3R 35 &

o .

AR
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63.

The electric ficld strength at a point In an
clectric field is 30 N/C. Find the force
experienced by a charge of 20 C at that point
(N 30N (8) 20N

(€) GOO N (D) 300 N

13,

ua fager da 1 B Y we dya e
W WM 30 WTUFAT 8 | T fawg w
20 el & A W T Al Ael I
(A) 3p ] (8) 20 g
(€ 600 YT (D) 300 =g

6. A sound wave has a frequency of 500 Mz and |#. 500 Teoi engRr wd 80 I TGRS il
wavelength 80 cm. How long time will it take to|  Ter eafy ooy @y 1 fpedy o T T A
travel 1 km ? Rie |
(A) 2.5 seconds (B) 25 minutes N 2.5 Jpve (8) 25 firre
(€) 2.5 minutes (D) 25 seconds (© 2.5 fiFe (D) 25 FHUZ

85. A wooden block of mass 6 kg is pulled across a| 6. 6 fHIT EeUnrF &1 U dFHST F w@lfd
rough surface by a 54 N force against a friction T g F & Rfog 54 N 9d g1 T
force F. The acceleration of the block is RN 8 W G wEr & | @ie ol
6 m/s? then the value of friction force F is TR 6:ﬁ/€;23§f. T 9T 99 P BT A
(A) 9 N (8) 36 N 21T -

{€) 54 N (D) 18 N (A 9 N (B) 36 N
(© 54 N (b) 18 N

66. Magnetic flux of a 20 round coil is reduced to | 6. T 90 BRI Bl FUS A 98 DY
zero from 0.3 weber in one second then the T 1 APoE ¥ 0.3 T ¥ TSHY NGl
induced e.m.f. between the terminal of coil w® WM %, @ gveet ¥ RRT % dm
W) 15V (B) 6V IRT fae ae® 9 (em.f.) BFT -

(© 2.5V (D) 3V (A) 1.5 dree (B) 6 dree
(@ 25 g (D) 3 dree

67. One proton enters in a magnetic field of 2500 67. Ya 'Eh'fﬁ' 2500 <CA/NRRR-A a1l
N / Amp- m intensity with Velocity of TEGT &7 | 4 % 105 S P A &
4 X 10° m/sec in parallel of field. The forte|. 5 e cou o 3 | R W
exerted on proton will be IR g1 BT 99 BT
A 48 x107°N (B) 48 x 101°N (A48 % 10-10 e
(€ ON (®) 048 x 107N (Bl48 x 1010 =

Q= e
(P)0.48 x 10-10 e
Page: 15 392197
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68.

68.

70.

.

Heat (in calorie) required to increase the
temperature from 10 °C to 20 °C of 6 kg

copper is same as heat (in calorie) required to
increase  the temperature from 20 °C to

100 °C of 3 kg lead. If specific heat of copper is

0.09 then the specific heat of lead will be
{(A) 0.033 () 0.055

(€) 0.022 (D) 0.044

In an L-C-R circuit, 100 volt alternating voltage

‘is applied between end points. In circuit

inductive reactance is XL = 20 ohm,
capacitance reactance is XC = 20 ohm and
resistance is of 5 chm. The impedance of circuit
will be

{A) 15 ohm

(C) 5 ohm

(B) 45 ohm
(D) 20 ohm

Vy, Vg, Vg are the velocities of violet, red and

green light respectively, in a glass prism. Which
among the following is a correct relation ?
A Vy >V >V B V=V =V

© Vy<Vr<Vg @ V<Ve<Vr -

100 gm of water at 60 °C is added to 180 gm

of water at 95 °C. The resultant temperature

68,

B69.

70.

7.

e e et

6 fyr df @1 amar 10°C 3 20°C
TH mﬁwﬂa?‘mﬂmaﬁ
angerear & &, R 5 3 far TRT
P A 20°C W 100°C @ BT A
amqEgEar Al © 1 Ay g @ ffre
ST 0.09 B, @ R @ fiR¥re @O

Gl
(A) 0.033 (8) 0.055
(© 0.022 (b) 0.044

qzsL—c-Rqﬁuuﬁsﬁrﬁ’aﬁﬁmoﬁwg
&1 yIEdT g o T | gRkey ¥

RO ufETd XL = 20 M, 9IRdE
;rl%rzrrax(::zoaﬂrramshﬁu&mﬂ
R =5 o ¥ | Ruy &t giremEn 2T -

) 15 3H (B) 45 &
© 5 & (D) 20 ™

s % v o § & de W W
yerr @ a1 A Vg Vg, Ve g @

fr § ¥ N W gEE Hel B2
W, >Vp>Ve BV=VWR=1
OV <<V OV<V<Wk

60 °C A9 & 100 UM YN Bl 95°C AT

_m?-’Haoqu#ﬁﬁﬁamTﬁjﬁT%,ﬁ‘_{

of mixture is fasror @1 qﬁ“ﬁ HTCI E’ITIT =

(A} 77.5°C B 8 | A 775°C (B)  85°C

(© 80°C (D) 82.5°C ©  80°C () 825 °C

m Page: 16 392197
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72. An object 4.0 cm in size, is placed at 25 ¢m in

73.

74.

75.

front of a concave mirror of focal length 15 cm.
At what distance from the mirror should 2
screen be placed in order to obtain a sharp
image ?

(A) + 25.5 cm

(€

(B) —355cm

—375¢cm (d) 425 cm

The capacitance of a capacitor is 3 uF. If 108 pC
charge is available in it, then what will be
potential difference between plates ?

(A) 324 volt (B) 36 volt

(C) 24 volt (D) 224 volt

Two unlike parallel forces 2 N and 16 N act at
the ends of a uniform rod of 21 c¢m length. The
point where the resultant of these two act is at
a distance of from the greater force.

(A) 3 cm (B) 4cm
(©) 1 cm (D) 2 cm
If radius of Earth shrinks by 4% and mass of

Farth unchanged, then the value
.acceleration due to gravity will be changed by -

2.

73.

74,

75.
of |

U 4.0 O ARG B OaR] ?Tq?fér o
PR wwa o 15 W 8, & wmw
2501M?ﬂtr¥ﬁm'rél?€rm?’rm
cgﬂwwﬁwimrﬂmﬂsmmeﬂm
afafra a Ik 2

(M) 4 255 h ()  — 355
©  —375 (0) 4+ 2545

UH GuRT @ eRer 3 yF & 1 afy
108 uC & Md%r & o AT &1 wier
& 4 favamr 2rm -

(A) 324 gree (8) 36 dice

©) 24 dree (D) 224 ez

uﬁ:g&é’taﬁﬁwwﬂﬁﬁaﬁm

A § B URadT T 8 d oy

RO & HE A uRe B -

ISR

(A) 2% (B) 8% (A) 29 (8) g9
{C} 4% {D} 16% - {C] 4% (D] 16%
Page: 17 392197
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75, Which among the following pairs are not

SECTION - 1
CHERISTRY

% Hydrotarhon uaed for wolding, purpons 6
(8Y Beriserice [t} Ethyne

() Fitiarie () £ihenc
11 A the follouing resction

SO, + 21,5 - >384 3,0
(M) Sulphivr is reduced and orygen is odidised
(8} Sulphiur is both o/idised and reduced
(6 Hydrogen is axidised and Sulphur is reduced
(1) Sulphur is ozidised and Hydrogen is reduced

¢, The cominon rigme of 2-Butanone is

A Acetone (2} Butyraldehyde
{C) Acetic anhydride

(D) EEthyl Metkyl Ketone

having same niumber of total electrons ?
W o2 and ¥ ® P2 and Ar

© Mp?* and Ar  ©) Na* and AI**

. Electronic configuration of copper can be
represented as
W [Ar]as?3d?

© [Ar]ds?3d%4p* (©) [Ar]4st3dlo

A1 - 111

LU LS

. fent i s g 8

(A ol (8) 2415

(¢} s (o) %41

1. fper yfifopur 4
SUZ '4’ 2*125;‘ =3 ?33 ’}‘ Zi’;zo

(Narepy @ A9 A GRS
Gt war € |

E) ey @ AFNERY T4 d9ggT &l

MG |
D EEERE digT @ Gept I
7 g |

iR dimipa W EEeer SuEEd
Y|
7. 2PEHH @ ARG A §

(A e (8) egfefeesiss

(€ thifed TRESES

(o) gurEer fhama B
o Prefafeas # ¥ W W T 9EH

gAge G arel Tal § 2
W 0 mEm (B P¥gAr

© Mg?*wiAr )  Na* wA®F

0. HIR P Fogeme aag ueRa fear
T AHal §

(8 [Ar]4s?3d'%4p? (A [Ar]4s?3d° (8) [Ar]4s23d*°4p?
(©[Ar]4s?3d%4p* (D)[Ar}4s*3d®
Page: 18

AR

Page- 18

39219



81. The number of molecules present in 2.8 g of

nitrogen is
(a) 6.023 x 10%°

(© 6.023 x 10

(B) 6.023 x 10%
(D) 6.023 x 1022

82. Essential constituent of an amalgam is

(A) an alkali metal {8) an alkali

(©) Silver (D) Mercury

Hardness of water is due to the presence of
(A} Sodium and Potassium salt

(8) Calcium and magnesium salt
(C) Lead and copper salt

(D) None of these

. Amount of copper deposited on the cathode of
an electrolytic cell containing copper sulphate
solution by the passage of 2 amperes for 30
minutes — (At. mass of Cu = 63.5)

(A) 0.1184 gm (8) 2.214 gm

(€) 1.184 gm (D) 0.2214 gm

85. Which of the following order of ionic radii is
correctly represented ?

(AAH->H*>H (8) Na* > F—> 0%

{©) F- > 0* > Na*
(D) AI3* < Mg?* < N3~

B, 2agvﬁmqmaﬂﬁeqﬁmm

82.

B3.

85.

b -

(A 6.023 x10*° (8)  6.023 x 10%

(0 6.023 x10* (D)  6.023 x 10%

IHATH DB &I UCF ©

N T i arg (B) TE ER

(©) Ty (o) 9RT

Ul P FORAT B BRI

(A T gar AR Tqu

(8) dfewraw goar AREH Fgor

(€ 3 @ HIOR G

D) 379 A DS &I

PR AApe O g fpar Reg emged
Jd F 2 TR @ grT 30 BFe 99
YOI HRA W GelS W WIE BN Bl
AT & - (PO & WA 9K = 63.5)
(A) 0.1184 gm (B) 2.214 gm

(© 1.184 gm (D) 0.2214 gm

.W#Wiﬁ1mﬁ$fﬁzﬁmﬁ@ﬁ1#ﬁ

P91 TS BT B 2
(AH->H*>H (B)Na* > F~ > 0%~
(OF- > 0% > Na*

(D)AI3+ < Mg?* < N3~

e feuied o I qedio! ¥R 12 € |

8. Equivalent weight of a dibasic acid is 12. Its|8s.
molecular weight is BT MR BRI -
(A) 48 (B) 24 (A) 48 (B) 24
(€ 12 (D) 6 (0 12 D) 6
Page: 19 392197
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87. The half life period of a radioactive clement is
150 days. After 600 days 1 gm of the element

will be reduced to

(A) lgm (8) 15
= g &m
@ L m o L
16 8 i
8. Which catalyst is used in oxidizing NH, in

Ostwald’s process ?

(A) V,0, (8) Molybdenum
(€) Pt (D) FeO
89. Among the following, ionic hydride is
(A) PH;4 (8) SiH,
{c) BH, (o) MgH,

%. F,C = CF, is a monomer of
(B) Glyptol

(D) Nylon-6

(A) Teflon
{C) Buna-S

Real gas behaves like ideal gas at
(A) None of these | (B) Low temperature

o1.

(€) High temperature (D) High pressure

92. Detergents are the salt of
{A) Carboxylic acid and Sulphonic acids or alkyl
hydrogen sulphates both

(B) Sulphonic acids or alkyl hydrogen sulphates

(€) Carboxylic acid (D) None of these

=

86.

89,

90.

91.

92,

- B)gemiNe ol AT Uledhd

v WU Ta P AGAGD 150

7 2 | 600 o1 d€ 1

ST
() 1 "
55

gm Td e

15
16 &

o 1
5—7: ngl

(8)

(c)
168"

diwdies P # emfrRn (vH,) @
siteiieoT ¥ T SRS §

(A) V,0; (B) HiefleSd
(© pt (b) FeO
frefafea 4 O ofe TEgRe © -
(A PH, (8  SiH,

©  BH, (D)  MgH,

F,C = CF, JeIP © -
(A) SFATT BT (8) Tl Bl
(© SE-S B (D) FRAF-6 B

gafae T oy TN @l GRE E9ER
oAl B

(A) 3 | IS TRl
(8) 7 AT W
€ S 99N ®

(A peifeRIfor 3T Ud HedIM® 3% AT
Ufoper BISSIoM Gebe QM

D) S 4§ W

HESISE
The

(© pidifRiferd erer (D)BIS 81

AR

Page: 20 392197

Page- 20



g The rate of diffusion of a pas is r and iy, density

M.

0.

G

(D) All of these
. In which of the compound oxidation number of
oxygen is+2 ?
(A 0, (8) Na,0,
© K,0 (0) F,0

| gy || gy
,».s://“,nk.;teét%zéo& em/boozﬁkHiLnb

I5 d, then under similar conditions of pPressure
and temperature

(" m'}i () "";‘f“
d
(€ pofil D) yed

10.0 gm CaC0, on heating gave 5.6 gm of Ca0

and 4.4 gm of CU-S, given data support the
law of

(A) Multiple proportion

(8) Constant proportion

(€} Law of conservation of mass

Cracking is a process used for change in
(A) Alcohols to aldehydes

(B) Alkanes to aromatic hydrocarbons
(€) Ketones to aldehydes

(D)Higher molecular weight alkane to lower
molecular weight alkane

96,

os )y b fRRe WY W A S

M,

95,

™ -

GETITON

Google Play

TR & o WA 9 Ul g w Rafy
i

(A . (8) o

d Ta
recqfd (D)

10.0 gm Caco, ™ FA W 5.6 gm Ca0
W 44 gm co,e T I fAEm g
ditrer Fram @1 wmde wRar & -

W) R o (8 ReR g
(©) g o afemRar &
(D) ¥ It

(c) red

e # @ fou At & sifdive & Rig
AfeRIIHRoT T&T B AN +2 82
" 0, (8)  Na,0,

© K0 (o)  F,0

iﬂ?uﬁﬂnmﬁaﬁﬁ%qﬁaﬁfﬁm

‘-'A}Tq&ﬁlﬁfaﬂﬁﬁﬁr@ﬂ?z@ﬁ

(B) o B WHCH BRQIGET

© FEF o Wesems F

(D)¥eT SR drel Yo &l i+ MR
it qoobd A

Pagei2l |
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7. The IUPAC name of - CZHS
CoHs HC=C—C ~CH, @I IUPAC T & -
HC=C-C—CH;is [-l-{
;L (A) 3-Freger-1-eTE
(A) 3-Methyl-1-Pentyne | (8) 3-fremge-4-UTST
(8) 3-Methyl-4-Pentyne (€) 2-gerger-2-SIaET
(€) 2—Ethy|-2-P-ropyne (0) 3-fReTge-5-UeTgT

(D) 3-Mm ethﬂ—S«Pentyne

o8, Which of the following types drugs reduces|ss. @ I <aisal FER 4 P & B

fever ? I T 2
(A) Tranquilizers (B) Analgesic W cirgesS (B) TTOINIG
() Antibiotic (D) Antipyretic © erifes 0 EumRRE
99. An example ofthermosétting plasticis . | 9. orAfET tt‘flTﬁE_cﬁ_ﬂ?r Th IgIexvl e
(A) Bakelite (B) PV.C. Cwd¥dse (B) PV.C.
(C) Polythylene (D) All of these ' (©) Uil (D) ¥ 9
100. An organic compound contains carbon =|100.U&s (D et # EFI?:":T = 38.?1%.
38.71%, Hydrogen = 9.67% and Oxygen. The| ®IgSIoM = 0.67% TN Afa<io & |
empirical formula of the compound would be Afre T GATaRl G B
(A) CHO (8) CH,0 () CHO (B) CH;0
© CH,0 (o) CH,O0 ’ @ CH,0 - CH,0 '«
/
"

1T I ——
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